
Chapter 5 lesson 7 Tuesday.notebook

1

February 26, 2021

Feb 3­8:48 PM

Give me 5!
1. 396 + 337 = 733

2. 786 - 241 = 545

3. 36 ÷ ? = 9

4. ¾ of 100 = 75 

5. ? x 6 = 8 x 3
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Give me 5!
1. 396 + 337 = 733

2. 786 - 241 = 545

3. 36 ÷ 4 = 9

4. ¾ of 100 = 75 

5. 4 x 6 = 8 x 3
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1.) A bike race was 160 m long. Josh 
cycles 43 m and stopped for a break. He 
cycled another 59 m before stopping for 
another break. 
How much further does he need to cycle to 
complete the race? 

2.) A train measures 20 m A car measured 
15 m less than the train. A bike measures 
350 cm less than the car. 
 

Work out the length of the car and the 
bike. 

3.) Megan has a 3 m roll of 
ribbon. 
 
 
 
 
 
She is cutting it up into 50 cm 
lengths. 
 
How many lengths can she cut? 
Convince me.

4.) A pencil is 20cm long. A glue 
stick is 100mm long. 
If I place both of these in a line 
how long will the line be? 

Write your answer in mm?
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1.) A bike race was 160 m long. Josh 
cycles 43 m and stopped for a break. He 
cycled another 59 m before stopping for 
another break. 
How much further does he need to cycle to 
complete the race? 

2.) A train measures 20 m A car measured 15 
m less than the train. A bike measures 350 cm 
less than the car. 
 

Work out the length of the car and the bike. 

3.) Megan has a 3 m roll of 
ribbon. 
 
 
 
 
 
She is cutting it up into 50 cm 
lengths. 
 
How many lengths can she cut? 
Convince me.

4.) A pencil is 20cm long. A glue 
stick is 100mm long. 
If I place both of these in a line 
how long will the line be? 

Write your answer in mm?

300mm

Josh has 58 m left to ride in the 
race. 

The car is 5 m and the bike is 150 cm 
or 1 m 50 cm 

Megan can cut it in to 6 
lengths.
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